Prolozte pomoci metody nejmensich ¢tverct piimku y = ax + b souborem bodi.
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Priklad 1. z|[1|2|0]-2|3
y[[r]of3] 5 fo

Soustavaz:
18a + 4b = —9

4a+5b=9
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Priklad 2. z || —2[0|1] 2 [ 3 | 6

Priklad 4. = |[10|1|4]6[2]8
y[ 5 ]1]3[4]1]4

Soustava:
221a + 31b =121
3la + 6b =18
— 168 9.3 — 227 _9
365 ) 365
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Soustava:
54a + 10b = —57
10a + 6b = —3
_ 39 9. 51
a = —9g — ' b = 38 =7

Priklad 3. z||3]0|2]|—1
y|3[1[1] 0
Soustava:
14a +4b =11
40+ 4b =15

Priklad 5. z |[1] 2 |-2]|-3]|4
yl2]-2[ 1 ]-3[3

Soustava:
34a +2b =17

2a+5b=1

Priklad 6. z | —1]0[1]2]3
vl 3 [3]1]o]0

Soustava:
15a + 5b = —2
5a+5b=7
a=—15;b=1
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